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6.3 Example: Female Labor Participation in 27 Nations (Including the portion of Appendix)
Descriptive statistics 
[image: ]
Correlation among X’s 
[image: ]
Multiple regression with squared variable (Y = flabor, X = gdp, gdp_squared, fertility)
[image: ]
Partial model without GDP per capita and squared GDP per capita (Y = flabor, X = fertility)
[image: ]
6.5 Appendix 

Multiple regression with centered GDP per capita and centered GDP per capita squared (Y = flabor, X = GDP_center, GDP_center_squared, fertility)

[bookmark: _GoBack][image: ]
Correlation between centered GDP and centered GDP squared
[image: ]
image4.emf
                                                                              

       _cons      45.2881   4.513307    10.03   0.000     35.99277    54.58343

   fertility      6.35775    1.67904     3.79   0.001     2.899704    9.815797

                                                                              

      flabor        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

       Total    4552.78503        26  175.107117   Root MSE        =    10.758

                                                   Adj R-squared   =    0.3391

    Residual    2893.38455        25  115.735382   R-squared       =    0.3645

       Model    1659.40048         1  1659.40048   Prob > F        =    0.0009

                                                   F(1, 25)        =     14.34

      Source         SS           df       MS      Number of obs   =        27


image5.emf
                                                                                    

             _cons     45.21848    4.97365     9.09   0.000      34.9297    55.50726

         fertility     2.987425   2.384517     1.25   0.223    -1.945324    7.920174

gdp_center_squared     .0158862   .0058297     2.73   0.012     .0038266    .0279458

        gdp_center     -.235592   .1462291    -1.61   0.121    -.5380899    .0669059

                                                                                    

            flabor        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                                    

       Total    4552.78503        26  175.107117   Root MSE        =    9.7259

                                                   Adj R-squared   =    0.4598

    Residual    2175.63684        23  94.5929059   R-squared       =    0.5221

       Model    2377.14819         3  792.382731   Prob > F        =    0.0006

                                                   F(3, 23)        =      8.38

      Source         SS           df       MS      Number of obs   =        27


image6.emf
gdp_cen~ared     0.4702   1.0000

  gdp_center     1.0000

                                

               gdp_ce~r gdp_ce..


image1.emf
99%         5.35           5.35       Kurtosis       2.612778

95%         4.71           4.71       Skewness       1.072064

90%         4.45           4.45       Variance       1.578959

75%         3.76            4.2

                        Largest       Std. Dev.      1.256566

50%          1.8                      Mean           2.388519

25%         1.49           1.33       Sum of Wgt.          27

10%         1.33           1.33       Obs                  27

 5%         1.32           1.32

 1%          1.3            1.3

      Percentiles      Smallest

                                                             

                          fertility

99%        70.89          70.89       Kurtosis       1.779551

95%        60.53          60.53       Skewness       .4151669

90%        57.59          57.59       Variance       530.7757

75%        42.35          53.58

                        Largest       Std. Dev.      23.03857

50%        17.88                      Mean           24.22407

25%         1.27            .71       Sum of Wgt.          27

10%          .59            .59       Obs                  27

 5%          .58            .58

 1%           .4             .4

      Percentiles      Smallest

                                                             

                             gdp

99%        83.41          83.41       Kurtosis       2.275621

95%        82.77          82.77       Skewness      -.0081866

90%        78.21          78.21       Variance       175.1071

75%        73.17             77

                        Largest       Std. Dev.       13.2328

50%        60.67                      Mean            60.4737

25%        49.02           45.7       Sum of Wgt.          27

10%        44.48          44.48       Obs                  27

 5%        39.63          39.63

 1%        33.25          33.25

      Percentiles      Smallest

                                                             

                           flabor


image2.emf
   fertility    -0.6136  -0.4508   1.0000

 gdp_squared     0.9566   1.0000

         gdp     1.0000

                                         

                    gdp gdp_sq~d fertil~y


image3.emf
                                                                              

       _cons      60.2476    9.20812     6.54   0.000     41.19916    79.29605

   fertility     2.987425   2.384517     1.25   0.223    -1.945325    7.920174

 gdp_squared     .0158862   .0058297     2.73   0.012     .0038266    .0279458

         gdp    -1.005249   .3984134    -2.52   0.019    -1.829429   -.1810678

                                                                              

      flabor        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

       Total    4552.78503        26  175.107117   Root MSE        =    9.7259

                                                   Adj R-squared   =    0.4598

    Residual    2175.63686        23  94.5929069   R-squared       =    0.5221

       Model    2377.14817         3  792.382724   Prob > F        =    0.0006

                                                   F(3, 23)        =      8.38

      Source         SS           df       MS      Number of obs   =        27


